ADJUSTED
AVEC Phase-2 Benchmarks 20160428

The results in this version of the results have been adjusted so that variation in the “dynamics”
is no greater than 0.5 times the standard deviation in the “total-phys” time series for each run.
The idea is to compensate for variability we still saw in some of the runs, which is justified
because in testing the run-to-run pattern of variation in the dynamics changes. The plots that
have been adjusted have “clipped=0.5*stdev” in their titles.

For the original unadjusted results, see
http://www.esrl.noaa.gov/gsd/ato/AVECPhase-2Benchmarks20160428 raw_notes.pdf

MPAS: job id 2035255 13km_gt:
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The adjusted or “clipped” version is below. Note that there’s still a bump in the time series for



“total”, since that disturbance appears to have occurred during the physic, not dynamics.
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MPAS: job id 2035257 13km_lt:
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MPAS: job id 2035259 13km_mid:
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MPAS: Job ID: 2035260 13km_gt dtreduced:
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MPAS: Job ID: 2035261

13km_It dtreduced:
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MPAS: Job ID: 2035262

13km_mid dtreduced:
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MPAS: Job ID 2036014 .mpas_15km_gt dt90s
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MPAS: Job ID 2036015 .mpas_15km_It_dt90s:
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Here, again, the bump that remains after clipping appears to have happened during physics.
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MPAS: Job ID 2035867

.mpas_15km_mid_dt90s
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MPAS 11km gt --- noise at the end because another of our jobs started when it shouldn’t have.

Will rerun
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MPAS: Job ID 2036018 11km It:
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MPAS: 2036020 Job ID 11km mid:
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MPAS: Job ID: 2036252 15-3km
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MPAS: Job ID: 2036415 3km Uniform resolution




|2 Gnuplot window 0 - O
>-C H & & & /S
20160428123359 3km mid 10.0483 5.74416 8192
3)(16 T T T T T T T o
total" ——
“total-phys”
250 [ J
a0 4
15a0 [ .
vad 2
\ b -
saf - .
. ——— -
o 1 1 1 1 1 1 1 L
0 10 30 4 50 60 70 80 90 100
56.7198, 2.75645e+07 4
FV3: RERUN job id 2037448perf_c768_32bit.gt Nom. res, 36 nodes: 576 MPI tasks, 4-way threaded (> 8.5

min/day)
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FV3:Job ID 2035258 perf_c768_32bit.It Nom. res, 48 nodes: 768 MPI tasks, 4-way threaded (< 8.5 min/day):
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FV3: Job ID 2035864 perf c640_32bit.gt Lower res, 24 nodes: 768 MPI tasks, 2-way threaded (> 8.5 min/day)
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FV3: Job ID 2035976 perf_c640_32bit.It Lower res, 24 nodes: 768 MPI tasks, 2-way threaded (< 8.5 min/day)
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FV3: Job ID 2036017 C896.nh.32bit.non-mono.32bit.gt
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FV3: job id 2036019 C896.nh.32bit.non-mono.32bit.It:
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FV3: Job ID 2036021 13km 15 tracer run:
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FV3:job id 2035254 perf_varres_32bit var res (nested). 97 nodes: 3096 MPI tasks, 2-way thrded (16 unused):
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FV3:job id 2036416 RERUN perf_varres_32bit var res (nested). 97 nodes: 3096 MPI, 2-way tds (16
unused):
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FV3: Job ID 2035874 (not sure about the jobid) 3km uniform res
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20160502 Some retests on Cori 05/01 (non dedicated)

Did a set of reruns on Cori yesterday (5/1) in the regular/premium queue with other jobs

running. | did three of each hoping we might be able to factor out the variability and compare
with the runs done 4/28.

Here’s the series of runs that were done:

set jobs= (\

mpas_15km_It 3072 tasks\ Didn’t run 4/28, used dt-reduced version
Mpas_15km_mid 2592 tasks\ Didn’t run 4/28, used dt-reduced version
mpas_15km_gt 2048 tasks\ Didn’t run 4/28, used dt-reduced version
mpas_13km_gt_dtreduced.rerun \ Because 4/28 used non-dt reduced core counts
mpas_13km_It_dtreduced.rerun \ Because 4/28 used non-dt reduced core counts

(same set as above two other times for replication)

)

Mpas_15km_It (1st) 3072 tasks
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Mpas_15km_lIt (2nd) 3072
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Mpas_15km_mid (1st) 2592 tasks
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